Unit 2		Matty  Dickens
[bookmark: _GoBack]Area of triangle:55


?
66°
13cm
e.g.	Area13]2 ─ [ ½ 13  13  cos66]
	=97.3370123837cm2─34.3692463399cm2
	=62.9677660438cm2
	=62.97 cm2
	

Area of Segment  πr2)─ ( ½ x r x r x cosθ)

Area of segment=  Area of sector – Area of triangle 2r2
Area of Segment:
e.g.	Area= ½ x 15 x 15 x cos55
	=64.5273490895
	

15cm
15cm
Area of triangle: ½ x b x c x cosA



Length of Arc:

e.g.	π62
	=113.097335529cm2
= 113.097…
	=25.1327412287cm2
	=25.13cm2
6cm
80
e.g.	2π10
	=31.41…cm
= 31.41..
	=5.2359877559cm
	=5.23cm
10cm
Area of Sector=  
Area of Sector:
C= 40cm
60 
Length=  


Circles:
[image: ]
Area:
Area of a circle: πr2
e.g.	π302
	=2827.433…cm2
30cm
12cm
e.g.  	2π12
	=75.398…cm
Circumference= 2πr
Circumference:
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subtended at the centre of the circle. Arc lengths, chord lengths, segment and sector
areas can all be determined if we know the angle subtended at the centre of the circle
and the radius of the circle.

If you have forgotten what terms like arc, segment and sector mean then the following
diagrams should refresh your memory.
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Example 1
Points A and B lie on the circumference of a circle centre 0, radius 50mm and are such
that £AOB = 40°. Find the lengthof (a) minorarcAB, (b) chord AB.
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